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SEANMTAILE HZUAN S =2 M6 &0 2/otH G 201 =E & Al
HXNE DRELC
1. dMUE
A B XA o= 2 |otd & S 2,583
PSR PSP |2 HS |Atote S AF A -6850 =2t | 2013.06.05
M2 XEAI2 MW= |olle &dtH SFe2| 88-1 WESS=DN; 2013.06.05
2. =EZAN 2
a4 A & = 2 o 2 a4 A & = 2 © 2
2A01255 (pH) 7.2 - ZHEBEZ2S 914 MPN/100mé
S}stE A A QS (COD) - mg/L AL R 34 MPN/100m¢
MBS A A QP2 (BOD) 0.5 mg/L CH& 274 (Coliform Group Unit) - MPN/100m¢
2722 (SS) 2 mg/L &4 (DO) 7.6 mg/L
9t € 2 (Cd) 225 mg/L 1.1.1-E2/222 0 E (1.1.1-T.C.E) 225 mg/L
2 (As) sdE mg/L ECISZZ0Ed (T.C.E) sdE mg/L
= 2 (Ho) sdE mg/L HECZZSZZ0EE (P.C.E) sdE mg/L
=4 (Pb) E2s mg/L SJ|¢l E2s mg/L
6JF A= (Cr6+) S mg/L Z2/222|UI0/EISHIHY (PCB) S mg/L
Al @H(CN) sdE mg/L AN SHEFA (CCly ) sdE mg/L
A H (SOI2AHEALH) EZE mg/L 12-C2==20E 28 mg/L
It gt & (Carbaryl) E2s mg/L CI2&2 20l & (Dichloromethane) E2s mg/L
H = (Phenol) sdE mg/L #l  H (Benzene) sdE mg/L
2 2 (Fr) sdE mg/L 22 Z X E (Chloroform) 0.005 mg/L
Ml &l & (Se) 28 mg/L Clolg sl & T 0l E (DEHP) 28 mg/L
22LIOFEE A (NH; = N) 0.03 mg/L OtE| 2 (Sb) sdE mg/L
LA A (NO;s - N) 2.6 mg/L
ot S| A 4 28
2 H g g =
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=HZAANHEHEY i & 4 gENd A AR
& A X RO EAYAR)
A S >EAM K (2,584)
SEANMTAILE SHZUAN X =2 M6 &0 2ot G 201 =Z2 & Al
HR™AE DR
1. dMUE
g H g |xes = 52 S 2,584
BASE | FD o2IHS | Aot AL A -6850 d==2Xt | 2013.06.05
IE=a=t1 DAIFSNE=4 MW= |olg2 &4t 532 88-1 WESS=DN; 2013.06.05
2. WA 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2Bt Nl ? (Total Colonies) 100 Ol Gt 0 CFU/m¢ | C|2 2 2 il & (Dichloromethane) 0.02 0|5t | EHE | mg/L
S &2 (Total Coliforms) =3 2HE [ /100m | 81 H (Benzene) 0.01 0|Gt| &= | mg/L
=2 80 &= 2 (Fecal Coliforms) =3 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | O € Bl (Ethylbenzene) 0.30/lct | EZZ& | mg/L
= (Pb) 0.010I5t| E&F | mg/L | A & &l (Xylene) 050/t | EdE | mg/L
2 2P 1506t | 2&8& | mg/L | 1.1-CI28=20 €8l (1.1-D.C.E) | 0.030I5t| 23F | mg/L
B 2 (As) 0.010I5t| 225 | mg/L | AIESIELA (CCly ) 0.002 0|5t &&E | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 30.0 mg/L
%= 2 (Hg) 0.001 0|5l A& | mg/L | AL EAHIS 10 05t 4.49 mg/L
Al ©F(CN) 0.010I5t| E&EZ | mg/L | & A (Odor) 23 2 -
3 & (Cr) 0.050I5t| & | mg/L | & (Taste) 20| 20l -
AD2LI0FEE A (NH; - N) 050/t | EdE | mg/L | #* 2l (Cu) 1 0lat =dE | mg/L
A E A (NO; - N) 10 0I5t 2.7 mg/L | % & (Color) 5Z 0t | 225 [
It & &(Cd) 0.005 0I5t &&= | mg/L | Ml Al (ABS) 050/t | EdE | mg/L
g = (B) 1.00/5l | 22& | mg/L | 220125 (pH) 58 ~ 85| 7.4 -
H = (Phenols) 0.005 0I5t &&= | mg/L | OF & (Zn) 3 0lot =dE | mg/L
EE2|S 2 M E (THMs) 0.10/15F | 0.046 | mg/L | 24012 250 013} 17 mg/L
22 Z X E (Chloroform) 0.08 0|5t| 0.018 mg/L | SE&E= (R.E) 500 0l Gt 96 mg/L
CtO| 0} XI = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | EHE | mg/L
T2t X2 (Parathion) 0.06 0IGt| E&EE | mg/L | & 2t (Mn) 0.050I5t| &= | mg/L
1,2-CIEZ2R-3-22Z2D20 0.003 0I5t 23 mg/L & & (Turbidity) 0.5 0|5t 0.02 NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0I=2 200 0l ot 10 mg/L
I} Ht 2 (Carbaryl) 0.070IGt| E&EE | mg/L | €20l (Al) 0.20l5t | E&E | mg/L
1.1.1-E2/2220E(1.1.1-TCE) | 0.1 0I5t | 2% | mg/L | &=224 0~ 4.0 0.80 | mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0I5t 2&& | mg/L
Ec|2Z2 20 Ed (TCE) 0.03 0ot | E&E | mg/L | E20LMEUHIAIE (HAA) 0.10I5t | 8% [ mg/L
S2Z0t0I= 401 (CHR) 0.03 0I5t| 23 mg/L S22 2220 E (BDCM) 0.03 0I5t| 0.018 mg/L
C1E 22010 HI ELIE 2 (DBAN) 0.1 0I5t | 0.0161 | mg/L | CIE2 22220/ € (DBCM) 0.1 0I5t | 0.009 | mg/L
CI2220INIELIEE (DCAN) 0.09 0|5t | 0.0175 | mg/L | 1,4-Ci0|St 0.050I5t | 2&8& | mg/L
ot & S=g FEIEN AHE
2 H & g =
]l i
2
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Al1H 3,

|-
| =

OpLp=

WAL
=

0l
o)l

<k
o)
<0

(Y
Oy

(061) 270 - 8295

=
=)

| (061) 270 - 8353 / &

kel

&

/

tE2 114981 X

o

534 - 810 /

(e}
s

==
o

<]
%

A & & K (2,585)

Al

o st &

¢}

=2d Mexel #&EU 2

PN
(=

A A
_I__I_E

ok

AD
Kl
<+

-

ol
ol

W
<+
20

I
o

i

Rr
70

BHUHES

1.

o o

ol cle
(e} (e}
812 °
~| g8
o o

N N

o | < | <
| ol | ol
<F |l <F ] <F
|’ =
<+

=

<+

=

=

@

o]

o —

To) n)

I | ro

I

4|

3| <
ml=z |
0 E._ <0
ER R R
| 7o | d0
| x| &
od | o | <«
T | KO
| <k
o | &
n

o =
MW= w
| RO R
B0 | & | 0
_ | or | o
Rl =< | <
A0 | A=

A
halll

A0
Kil
<+

oF || o < 2| <
o | I ()] ()] ()]
o || =z £ €| E
K <
= R 3|8
o e M ol| @
n
—_ . — 0
W2 ®| 2|66«
_1alilslzlE
) S W S — ™| 5
or
a0 = ww
|3 |4
S | N0 S| T
= || 5o N
Els|gslrn|a
<L
o[ <@ || S
_ = = = =
FlS|s|salsls
vl ER TR R:
Q ~ ~ ~
A |
o & | & o
Rl | nl
=)
Rr
[ R
Ko = | | e
70 | A —
— o m
~ S [ 1 )
B o
o | = = RO o
o | 8 ) ®
"lels| 5|z #
w S| s 5 £ .
2 EAEA A 2 "
(o] ~ < =]
| B[R b H &l
AN lmlm|s|w il
= | % |2 | M@ il . =
55| 3 mo EI R
=

olyg
o

=

0

oH
Il

E
5=

=

KO
ol
)|

4

o)
<0

Oir



Al1H 3,

|-
| =

OpLp=

WAL
=

0l
o)l

<k
o)
<0

(Y
Oy

(061) 270 - 8295

=
=)

| (061) 270 - 8353 / &

kel

&

/

tE2 114981 X

o

534 - 810 /

(e}
s

==
o

<]
%

A dH K (2,586)

Al

o st &

¢}

=2d Mexel #&EU 2

PN
(=

A A
_I__I_E

ok

AD
Kl
<+

-

ol
ol

W
<+
20

I
o

i

Rr
70

BHUHES

1.

n n

ol 2|2
o [{e)
812 °
~|81g
o o

N N

o | = | &
| ol | o
| <E | <
mO| R =
=

=

Y

<+

Nt

S| ®

S| m
S
Sl

T =
.__A.o E._ 1o
F <™
| 7o | d0
| x| &
od | o | <«
T | KO
mW | <
o | =
n

O =
MW= w
R R
B0 | & | &0
_ | Or | n0
Bz
Al w0 | =

A
halll

A0
Kil
<+

oF || o < 2| <
o | I ()] ()] ()]
o || =z £ €| E
K [o2]
= R S| &
o e M ol| @
n
—_ . — 0
W2 ®| 2|66«
_1alilslzlE
) S W S — ™| 5
or
a0 = W
|3 |4
S | N0 S| T
= || 5o N
Els|gslrn|a
||
o[ <@ || S
_ = = = =
FlS|s|salsls
vl ER TR R:
Q ~ ~ ~
A |
o & | & o
Rl | nl
=)
Rr
[ R
Ko = | | e
70 | A —
— o m
~ S [ 1 )
B o
o | = = RO o
o | 8 ) ®
"lels| 5|z #
w S| s 5 £ .
2 EAEA A 2 "
(o] ~ < =]
| B[R b H &l
AN lmlm|s|w il
= | % |2 | M@ il . =
55| 3 mo EI R
=

olyg
o

=

0

oH
Il

E
5=

=

KO
ol
)|

4

o)
<0

Oir



A3,

OfLp=

WAL
=

0l
o)l

<k
o)
<0

(061) 270 - 8295

=
=)

| (061) 270 - 8353 / &

kel

/

tE2 114981 X

e form

534 - 810 /

(e}
s

KO
<
ol

H
<F
ic
<F
H
30

==
o

<]
%

A dH KM (2,587)

Al

o st &

¢}

=2d Mexel #&EU 2

PN
(=

A A
_I__I_E

ok

AD
Kl
<+

-

ol
ol

W
<+
20

I
o

i

Rr
70

BHUHES

1.

o o
“l2]e
(e} (e}
Bl2e]|e
23
o o

N N

o | = | =
| on | om
AR R
Ol r | =
A

ok

H

>

[e0]

n

o —

To) n)

I | o

> T
4|

o | 0D
=z

:A_ 1o

Al <F |
- | 1o | 30
H|l < | &
ol | o | <
T | KO
m | <

F o | &
n

O =
Wl =]«
R R
m0 | & | B
— | Of | 20
<l =<
L B =

A
halll

A0
Kil
<+

O - - - - -
o+ / S S < <
N o| o| ol o| o
o | E|E|E|E|E
o | K| KV | K [ K
= @ | | a0 | [ | a0
AU S| | | | D
ol = |16
Wl l<|2|c|B|®
=l lle|82]a
Q ) — (a2}
o o o
or
00
= ~ =~ ~
c
w0 | AR
mm SRR
:._ ~
glmlo ||
FlE|E|E|E|2]|
N ) o o
wllz|lS(8|8|E]|E€
Q ~ ~ ~
Ko K K
= oflm|®| |m|Z| oo
fall | il ]
=)
- | wr
ol 2w [ IR )
S I s I ° ol =
N m c| & =
B _ RO[oor |
7| E ~| z
) O =
o | S| Z 8| L o0
Ss131e| ~eg|2
“l1ol=|.2 8|2 o
~ |lw| & |HE S A4 ~
“lo|E|Hel 5| 5
Elm kgl |22 &r
Ml |m =0 Y| s
T|lo|ng|®|[IT|s] . .
o T w8 ||| & | | D
ol | ko |IHL| = | o0 | B0

AU

KO
o
)|

4

o)
<0

Oir



Ortigg oot =& A Y H -

"AOPLH= X2, bt 124"

=2 3]
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SR EH AU SERTANMESY WA A Yl M AR

Ml S >EAM K (2,588)
SEANMTAILE HZUAN S =2 M6 &0 2/otH G 201 =E & Al
HR™AE DR
1. dMUE
A B XA o= 2 lsas S 2,588
PSR PSP |2 HS |Atote S AF A -6850 =2t | 2013.06.05
M2 I XIEA2 MW= |oled2 SXH 552 403 WESS=DN; 2013.06.05
2. =EZAN 2
a4 A & = 2 o 2 a4 A & = 2 © 2

2A01255 (pH) 7.0 - ZHEBEZ2S 167 MPN/100mé
S}stE A A QS (COD) 7.4 mg/L AL R 0 MPN/100m¢
MBS A A QP2 (BOD) - mg/L CH& 274 (Coliform Group Unit) - MPN/100m¢
2722 (SS) 1 mg/L &4 (DO) 8.2 mg/L
9t € 2 (Cd) 225 mg/L 1.1.1-E2/222 0 E (1.1.1-T.C.E) 225 mg/L
2 (As) sdE mg/L ECISZZ0Ed (T.C.E) sdE mg/L
= 2 (Ho) sdE mg/L HECZZSZZ0EE (P.C.E) sdE mg/L
=4 (Pb) E2s mg/L SJ|¢l E2s mg/L
6JF A= (Cr6+) S mg/L Z2/222|UI0/EISHIHY (PCB) S mg/L
Al @H(CN) sdE mg/L AN SHEFA (CCly ) sdE mg/L
A H (SOI2AHEALH) EZE mg/L 12-C2==20E 28 mg/L
It gt & (Carbaryl) E2s mg/L CI2&2 20l & (Dichloromethane) E2s mg/L
H = (Phenol) sdE mg/L #l  H (Benzene) sdE mg/L
2 2 (Fr) sdE mg/L 22 Z X E (Chloroform) 0.004 mg/L
Ml &l & (Se) 28 mg/L Clolg sl & T 0l E (DEHP) 28 mg/L
22LIOFEE A (NH; = N) 0.03 mg/L OtE| 2 (Sb) sdE mg/L
AN EA (NO; - N) 1.8 mg/L

ot S| A 4 28
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=HZAANHEHEY i & 4 gt A a =R
= & X 2 (Ao AIE A ED
A S >EAM K (2,589)
SEANMTAILE SHZUAN X =2 M6 &0 2ot G 201 =Z2 & Al
HR™AE DR
1 AHUE
2 8 H5e2 = #lx== gd=ds 2,589
PSR PSP o2IHS | Aot AL A -6850 d==2Xt | 2013.06.05
M2 [ XIEA2 MW= lolg2 SXH SE2| 403 WESS=DN; 2013.06.05
2. =EZAN 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFuU/m¢ | C| 2 Z 2 il E(Dichloromethane) 0.020I5t| & | mg/L
S &2 (Total Coliforms) =3 2HE [ /100m | 81 H (Benzene) 0.01 0|Gt| &= | mg/L
=2 80 &= 2 (Fecal Coliforms) =3 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | O € Bl (Ethylbenzene) 0.30/lct | EZZ& | mg/L
= (Pb) 0.010I5t| E&F | mg/L | A & &l (Xylene) 050/t | EdE | mg/L
2 2 (F) 150/6t | €8& | mg/L | 1.1-CI22=2 0 €8l (1.1-D.C.E) | 0.03 0l5t| S|HE | mg/L
B 2 (As) 0.010I5t| 225 | mg/L | AIESIELA (CCly ) 0.002 0|5t &&E | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 23.0 mg/L
= 2 (Hg) 0.001 0I5t 23 mg/L UM EAH S 10 Ol ot 3.73 mg/L
Al ©F(CN) 0.010I5t| E&EZ | mg/L | & A (Odor) 23 2 -
3 & (Cr) 0.050I5t| & | mg/L | & (Taste) 20| 20l -
AD2LI0FEE A (NH; - N) 050/t | EdE | mg/L | #* 2l (Cu) 1 0lat =dE | mg/L
A E A (NO; - N) 10 0I5t 1.9 mg/L | % & (Color) 5Z 0t | 225 [
It & &(Cd) 0.005 0I5t &&= | mg/L | Ml Al (ABS) 050/t | EdE | mg/L
g = (B) 1.00/5l | 22& | mg/L | 220125 (pH) 58 ~ 85| 6.9 -
H = (Phenols) 0.005 0I5t &&= | mg/L | OF & (Zn) 3 0lot 0.030 mg/L
EE2|S 2 M E (THMs) 0.1015F | 0.048 | mg/L | 24012 250 013} 20 mg/L
22 Z X E (Chloroform) 0.08 0|5t | 0.021 mg/L | SE&E= (R.E) 500 0l Gt 84 mg/L
CtO| 0} XI = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | EHE | mg/L
T2t X2 (Parathion) 0.06 0IGt| E&EE | mg/L | & 2t (Mn) 0.05 0|5t | 0.006 mg/L
1,2-CIEZ2R-3-22Z2D20 0.003 0I5t 23 mg/L & & (Turbidity) 0.5 0|5t 0.08 NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0I=2 200 0l ot 7 mg/L
I} Ht 2 (Carbaryl) 0.070IGt| E&EE | mg/L | €20l (Al) 0.20l5t | E&E | mg/L
1.1.1-E2/2220E(1.1.1-TCE) | 0.1 0I5t | 2% | mg/L | &=224 0~ 4.0 0.90 | mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0I5t 2&& | mg/L
Ec|2Z2 20 Ed (TCE) 0.03 0ot | E&E | mg/L | E20LMEUHIAIE (HAA) 0.10I5t | 8% [ mg/L
S2Z0t0I= 401 (CHR) 0.03 0I5t| 23 mg/L S22 2220 E (BDCM) 0.03 0IGt| 0.016 mg/L
C1E 22010 HI ELIE 2 (DBAN) 0.1 0I5t | 0.0211 | mg/L | IE2 22220/ (DBCM) 0.1 0I5t | 0.010 | mg/L
22 20tHIELIE2 (DCAN) 0.09 03| 0.0159 | mg/L | 1,4-CrOI= &k 0.050I5t | 22& | mg/L
ot & S=g FEIEN AHE
2 H & g =
]l i
2
= .
==1 I Al =|. A |.O-I C}X
S I A &G ALY CHE
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SEANMTAILE HZUAN S =2 M6 &0 2/otH G 201 =E & Al
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1. dMUE
=N (= DA e S5 2 lsas S 2,593
PSR PSP |2 HS |Atote S AF A -6850 =2t | 2013.06.05
M2 I XIEA2 MW= |olle #atH 282 654-1 WESS=DN; 2013.06.05
2. =EZAN 2
a4 A & = 2 o 2 a4 A & = 2 © 2

2A01255 (pH) 7.1 - ZHEBEZ2S 242 MPN/100mé
S}stE A A QS (COD) 11.6 mg/L AL R 2 MPN/100m¢
MBS A A QP2 (BOD) - mg/L CH& 274 (Coliform Group Unit) - MPN/100m¢
2722 (SS) 2 mg/L &4 (DO) 8.2 mg/L
9t € 2 (Cd) 225 mg/L 1.1.1-E2/222 0 E (1.1.1-T.C.E) 225 mg/L
2 (As) sdE mg/L ECISZZ0Ed (T.C.E) sdE mg/L
= 2 (Ho) sdE mg/L HECZZSZZ0EE (P.C.E) sdE mg/L
=4 (Pb) E2s mg/L SJ|¢l E2s mg/L
6JF A= (Cr6+) S mg/L Z2/222|UI0/EISHIHY (PCB) S mg/L
Al @H(CN) sdE mg/L AN SHEFA (CCly ) sdE mg/L
A H (SOI2AHEALH) EZE mg/L 12-C2==20E 28 mg/L
It gt & (Carbaryl) E2s mg/L CI2&2 20l & (Dichloromethane) E2s mg/L
H = (Phenol) sdE mg/L #l  H (Benzene) sdE mg/L
2 2 (Fr) sdE mg/L 22 Z X E (Chloroform) 0.014 mg/L
Ml &l & (Se) 28 mg/L Clolg sl & T 0l E (DEHP) 28 mg/L
22LIOFEE A (NH; = N) 0.03 mg/L OtE| 2 (Sb) sdE mg/L
LA A (NO;s - N) 1.5 mg/L

ot S| A 4 28

2 H g g =

]l i

2
= .
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? 534 - 810 / My SEH 2E2 11499 X / M3 (061) 270 - 8353 / Az (061) 270 - 8295

=HZAANHEHEY i & 4 gt A a =R
= & X 2 (Ao AIE A ED
A S >EAM KN (2,594)
SEAMSCAMNSE SEHIAAN S a8 6o &80 2ot CtS3t 201 =2 H Al
HR™AE DR
1. dMUE
g H g |xes S5 52 S 2,594
PSR PSP o2IHS | Aot AL A -6850 d==2Xt | 2013.06.05
M2 (XEAI2 MW= |olg2 a3 282 A30-3 WESS=DN; 2013.06.05
2. =EZAN 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFU/m¢ | C| 2 2 2 il EH(Dichloromethane) 0.02 0|5t | EHE | mg/L
S &2 (Total Coliforms) =3 2HE [ /100m | 81 H (Benzene) 0.01 0|Gt| &= | mg/L
=2 80 &= 2 (Fecal Coliforms) =3 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | O € Bl (Ethylbenzene) 0.30/lct | EZZ& | mg/L
= (Pb) 0.010I5t| E&F | mg/L | A & &l (Xylene) 050/t | EdE | mg/L
2 2P 1506t | 2&8& | mg/L | 1.1-CI28=20 €8l (1.1-D.C.E) | 0.030I5t| 23F | mg/L
B 2 (As) 0.010I5t| 225 | mg/L | AIESIELA (CCly ) 0.002 0|5t &&E | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 50.0 mg/L
= 2 (Hg) 0.001 0|5l A& | mg/L | AL EAHIS 10 05t 5.53 mg/L
Al ©F(CN) 0.010I5t| E&EZ | mg/L | & A (Odor) 23 235 -
3 & (Cr) 0.050I5t| & | mg/L | & (Taste) 20| 20l -
AD2LI0FEE A (NH; - N) 050/t | EdE | mg/L | #* 2l (Cu) 1 0lat =dE | mg/L
HASAE A (NO; - N) 10 0I5t 1.6 mg/L | % & (Color) 5Z 0t | 225 [
It & &(Cd) 0.005 0I5t &&= | mg/L | Ml Al (ABS) 050/t | EdE | mg/L
2 = (B) 1.00/aF | 0.01 | mg/L | =A0/25% (pH) 58 ~85| 6.8 -
H = (Phenols) 0.005 0I5t &&= | mg/L | OF & (Zn) 3 0lot =dE | mg/L
EE2|S 2 M E (THMs) 0.1015F | 0.003 | mg/L | 4012 250 013} 32 mg/L
=2Z Z X E (Chloroform) 0.08 0I5t| 0.003 mg/L | SE&E= (R.E) 500 0|5t 108 mg/L
CtO| 0} XI = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.3 0l ot 0.06 mg/L
T2t X2 (Parathion) 0.06 0IGt| E&EE | mg/L | & 2t (Mn) 0.05 0|5t | 0.006 mg/L
1,2-CIEZ2R-3-22Z2D20 0.003 0I5t 23 mg/L & & (Turbidity) 0.5 0|5t 0.23 NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0I=2 200 0l ot 16 mg/L
I} Ht 2 (Carbaryl) 0.070IGt| E&EE | mg/L | €20l (Al) 0.20l5t | E&E | mg/L
1.1.1-ER2I2220EH(1.1.1-TCE) | 0.1 05t | 225 | mg/L | Ega 0~40 ]| 090 [ mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0I5t 2&& | mg/L
Ec|2Z2 20 Ed (TCE) 0.03 0ot | E&E | mg/L | E20LMEUHIAIE (HAA) 0.10I5t | 8% [ mg/L
S2Z0t0I= 401 (CHR) 0.03 0I5t| 23 mg/L S22 2220 E (BDCM) 0.03 0I5t | 23 mg/L
CISZ220I0tMELIEE (DBAN) 0.1 0I5t [ 0.0630 | mg/L CIE222Z 20 E (DBCM) 0.1 0|5t EZS mg/L
CI2220INIELIEE (DCAN) 0.09 0|5t | 0.0214 | mg/L | 1,4-CiO|SH 0.050I5t | 2&8& | mg/L
ot & S=g FEIEN AHE
2 H & g 5
]l i
2
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“HOtLE AlHFA, 2l L
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=EE zFH =ZIAMEEE HHda BEA AR

8 X R (MO S EAY L)
Ab 2

>
Jo
4

M
0y

(
SEANFTAIGEE =2BA R =22 HMexe #E0l 25t TSt 201 =22 At

1. XU
g H g |xes = Al d83 2,598
BASE | FD o2IHS | Aot AL A -6850 d==2Xt | 2013.06.05
IE=a=t1 DAIFSNE=4 W=D lolg2 2UHH S22l &4 WESS=DN; 2013.06.05
2. WA 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFuU/m¢ | C| 2 Z 2 il E(Dichloromethane) 0.020I5t| & | mg/L
S &2 (Total Coliforms) =3 2HE [ /100m | 81 H (Benzene) 0.01 0|Gt| &= | mg/L
=2 80 &= 2 (Fecal Coliforms) =3 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | O € Bl (Ethylbenzene) 0.30/lct | EZZ& | mg/L
= (Pb) 0.010I5t| E&F | mg/L | A & &l (Xylene) 050/t | EdE | mg/L
2 2 (F) 150/6t | €8& | mg/L | 1.1-CI22=2 0 €8l (1.1-D.C.E) | 0.03 0l5t| S|HE | mg/L
B 2 (As) 0.010I5t| 225 | mg/L | AIESIELA (CCly ) 0.002 0|5t &&E | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 18.0 mg/L
= 2 (Hg) 0.001 0I5t 23 mg/L UM EAH S 10 Ol ot 4.99 mg/L
Al ©F(CN) 0.010I5t| E&EZ | mg/L | & A (Odor) 23 235 -
3 & (Cr) 0.050I5t| & | mg/L | & (Taste) 20| 20l -
AD2LI0FEE A (NH; - N) 050/t | EdE | mg/L | #* 2l (Cu) 1 0lat =dE | mg/L
A E A (NO; - N) 10 0I5t 1.3 mg/L | % & (Color) 5Z 0t | 225 [
It & &(Cd) 0.005 0I5t &&= | mg/L | Ml Al (ABS) 050/t | EdE | mg/L
g = (B) 1.00/5l | 22& | mg/L | 220125 (pH) 58 ~85| 7.1 -
H = (Phenols) 0.005 0I5t &&= | mg/L | OF & (Zn) 3 0lot =dE | mg/L
EE2|S 2 M E (THMs) 0.1015F | 0.018 | mg/L | 4012 250 013} 12 mg/L
22 Z X E (Chloroform) 0.08 0|5t| 0.015 mg/L | SE&E= (R.E) 500 0l Gt 66 mg/L
CtO| 0} XI = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | EHE | mg/L
T2t X2 (Parathion) 0.06 0IGt| E&EE | mg/L | & 2t (Mn) 0.050I5t| &= | mg/L
1,2-CIEZ2R-3-22Z2D20 0.003 0I5t 23 mg/L & & (Turbidity) 0.5 0|5t 0.15 NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0I=2 200 0l ot 8 mg/L
ot Ht & (Carbaryl) 0.070lct| EHE | mg/L | 2=F0Is (Al) 0.2 0lct | EZZ& | mg/L
1.1.1-E2I2220(EH(1.1.1-TCE) | 0.1 0I5t | 22& | mg/L | a4 0~40 | 0.80 | mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0I5t 2&& | mg/L
Ec|2Z2 20 Ed (TCE) 0.03 0ot | E&E | mg/L | E20LMEUHIAIE (HAA) 0.10I5t | 8% [ mg/L
22 20t0IEdI0IE (CHR) 0.03 0I5t| 23 mg/L S22 2220 E (BDCM) 0.03 0I5t| 0.002 mg/L
C1E 22010 HI ELIE 2 (DBAN) 0.1 0I5t | 0.0075 | mg/L | CIE2 22220/ (DBCM) 0105t | 222 | mg/L
22 20tHIELIE2 (DCAN) 0.09 03| 0.0315 | mg/L | 1,4-CIOI= & 0.050I5t | 22& | mg/L
ot & S=g FEIEN AHE
2 H & g 5
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